| NSTALLATI

CONTOUR BULL BAR

3.50

APPLI CATI ON:
2024016

AUTOMOTI VE PRODUCP ART NUMBER:

Chevrol

| NSTRUC

TI ONS

Silverado 1500

32Z2100638,1038,105-31098,103F,10I5T

| TEM QUANTI TY DESCRI PTI ON TOOLS NEEPETL
1 1 COUNTOR BULL BAR ASSEMBL|)Y 19MM WREN|CH
, 3 2 UPPER SUPPORT STRAP, DRIVER(2) ANBMPWREREGCKB
4,5 2 MOUNTI NG BRACKET, DRI VER(4) AND7HRMSSEBOCIGETR (
6 4 M12 BUTTON HEAD CAP SCREW (BLAKNK HAEXCKEY
7 8 M12 FLAT WASHER (BLACK Z| NEMM HEX HKEY
8 4 M12 SPLIT LOCK WASHER ( BLACKITZILNQA)Y K|NI
9 4 M12 HEX NUTS (BLACK ZI NL) RATCHET
10 2 M10 SOCKET BUTTON HEAD CAP SCRHEWRQBEA®@RHZRIC
11 2 M10 SPLIT LOCK WASHER (BLACK ZI NC)
12 2 M10 FLAT WASHER (BLACK Z| NC)
13 2 M10 HEX SOCKET CAP SCREW (YELLOW ZI NC)
14 4 M10 FLAT WASHER (YELLOW 21 NC)
15 2 M10 SPLIT LOCK WASHER (YELLOW ZI NC)
16 2 M10 HEX NUT (YELLOW ZI NC)
17 1 THI CK ADHESI VE FOAM TAPE
ANTSEI ZE LUBRI CANT MUST BE USED ON ALL STAI NLESS STEEL FASTENERPB T
2016 Upper Sujpp

D p C

Westin Automotive Products, Inc.
y 320 W. Covina Blvd
» San Dimas, Ca. 91773
P.N.: 78.046RevC ECO #: WiH189

Thank you for choosing Westin products

for additional installation assistance please call

Customer Service (800) 798346
www.westinautomotive.com

DATE: 4/28/16



PROCEDURE
1.Remove contents from box, verify if all parts | ist|led
Carefully read and understand all instructions bef|or
Failure to identify damage before installation couyl d
2. Remove the radiator cover to reveal Sseer Ewwgunenal. at|t a
3.Remove the screws that attach the grill e tS®et Heé gfurfen
Pul | up all asteners FigquRelmove screyws that attachFigufl e
move plasticl]radiator coverfl./[the grille o the vehicle.
Screws are found around this |ar
4 . For 2200145 mRamdwe t he bumper filler panel Rédfeernvagtaabe s h
Working from benegth thpe vehi
flathead screwdrivpkpr to |pop |
tabs retaining the fill ¢r pan
Remove the ftwo fasteners
on each sidle attaching tlhe
filler pangl to thgrjigufe qFigule 4
Once all fastenef s havje been removed
and the tabs are|poppe |l oos e, carefully
pull the filler |panel Joff of the vehicle.
Figufe 5

Westin Automotive Products, Inc. Thank you for choosing Westin products

for additional installation assistance please call
Customer Service (800) 798346
www.westinautomotive.com

Weslio
P.N.: 78046RevC

320 W. Covina Blvd
» San Dimas, Ca. 91773

ECO #: WiE189

DATE: 4/28/16



